PacKkpbiTne KBaAapaToB
(X +1)"N2(x+2)+(x—-1)"2(x—-2) =12

(X +1)N2(x+2)+ (x—1)"2(x —2) =12

(X2 +2x+1)(x+2)+(x"2-2x+1) (x-2) =12

XA3 + 2XN2 + X + 2X"2 + 4X + 2 + X3 - 2XMN2 +X -2X"2 + 4x -2 = 12
2x"3+10x-12=0

x"3+5x-6=0

XN3 +6x-x-6=0

6(x-1) + x (x*2-1)=0

6(x-1) + x(x-1)(x+1) =0

(x-1) (6+x(x+1))=0

X=1

(XP2 - 142) = (x-1)(x+1)

Bagum 3enaHg
“TpaHcepdUHr pearnbHOCTU” - KBAHTOBAA MEXaHUKU

x2+x+6=0
D=Db"2-4ac =1-24 =-23 KaK Hago XWTb, YTOObI XXenaHus cobIBanuchb
HeT peLleHUA

oTBeT * X=1 VK 6onblie 200000 mmunnnoHa YyenoBsek



